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Instructions for Candidates

1. Write your Roll No. on the top immediately on receipt
of this question paper.

2. Attempt all question by selecting two parts from each
questlon

3. All questions carry equal marks.

4.  Answers may be written either in English or Hindi:
but the same medium should be used throuchout the

paper.
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(a) “Stock exchanges play an important role in Indian
Stock Market”. Comment. (7

(b) Explain Credit Rating. Do you think Credit Rating
helps in Buying Bond or Securities. (8)

OR

A company’s share is currently selling at 144. The
dividend paid by the company last year was 9.60 per
share. If the expected rate of growth of dividend if
and the required rate of return (k) is 12% what will
be the share price after 2 years. (15)

(a) What is Primary and Secondary Market? Explain
Impact of taxes on Investment? (7)
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frafafaa w0 & W 2

qiewRIferar A B C

snfem Rt 30% 22% | 20%

few (W fawe ) 28% | 21% | 14%

6 e 9 S Rar v @ R SIoR Gt 3R S - Je
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W e 14% 21 ATAGE & HUR W B § DEHIeEr
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(b) Capital Asset Pricing Method (CAPM) model is
the best model for Investment decision. Justify.

(8)
OR

Mr. X is considering to buy a bond having face value
of 2,000 which will be redeemed over a period of §
years in five equal annual instalments. The bond carries
a coupon rate of interest of 8%. Find the value at
which Mr. X would like to buy the bond if his expected

rate of return is 10%. (15)

(a) Mutual funds are an indirect investment”. Examine
it in the light of features and advantages of mutual
funds. How can one invest in a Mutual Fund
Scheme. N

(b) What is Market Efficiency? What are its three
forms? (8)

OR

A 12% bond of T100 is available in the market at 95.
The interest is payable semi-annually. The bond will
mature in 5 years from now. Compute Yield To
Maturity (YTM) of this bond. What will be the value
of the bond if the required rate of return of an investor
is 14%? Should he buy the bond? (15)

. 1.0,



3697 4

4.

(a) Explain the Dividend Discount Model of Equity

Share valuation.

(7

(b) What do you mean by Futures? How it is different

from Forward Contract? (8)
OR
Given following information :
Portfolios A B C
Expected Return 30% 22% 20%
Risk (Standard Deviation) 28% 21% 14%

It is further given that return on market index and

risk-free asset is 19% and 10% respectively. The
standard deviation of market index is 14%. Which of

the portfolio are efficient and inefficient on the basis

(15)

of CML.

Write a short note on any five :

(a) Systematic and Unsystematic Risk

(b) P/E Ratio

(¢) Zero Coupon bonds

(5%6=30)
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(d) Credit Rating
(e) Role of SEBI on Investor Protection

(f) Markowitz Theory
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